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=" (1) Vertical

. According to Vygotsky, a range of task

too difficult for the child to do alone but
possible with the help of adults and
more skilled peers is called :

(1) Scaffolding

(2) Inter subjectivity

(3) Guided participation

(4) Zone of proximal development

. Which of the following psychologist

defined adolescence as "Adolescence is
that span of years during which boys
and girls move from childhood to
adulthood, mentally, emotionally,
socially and physically ?

(1) A.T. Jersild

(2) E.B. Hurlock

(3r L P. Davis

- (4) H. Sorenson

. Learner centered instructional strategy

in which students are encouraged to
construct their understanding with the
assistance of teacher through questions
and directions is :

(1) Discovery learning

(2) Guided discovery learning
(3) Problem based learning
(4) Project based learning

_ Positive facilitation of present learning

through past learning, for example
addition helps multiplication. This type
of transfer of learning is called :

@ Sequential
(3) Lateral (4) Bilateral
| p.T.0.
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Which of the following statement most

appropriately defines the term inclusion ?

(1) Educating children with special
needs in special school

(2) Educating children with special
needs in special classroom of
school

(3) Educating children with special
needs most of the time in regular
class

(4) Educating children with special
needs full time in the regular
classroom

Which of the following programme is

' not suitable for gifted children ?

(1) Special classes

(2) Remedial Teaching

(3) Acceleration

(4) Enrichment in regular classroom

setting

. According to Piaget, adolescents ability

to evaluate the logic of verbal statement
without  referring to  real-world
circumstances is :

(1) Propositional thought

(2) Transitive inference

(3) Cognitive mapping

(4) Decentration

Parul's intelligence test indicate that she
is average to above average intelligent.
However her grades in reading,
spellings, social sciences and science are
very low. Her maths grades are quite
high & her writing skills are adequate.
Parul most likely has :

(1) Dyscalculia (2) Dysgraphia
(3} Dyslexia (4) Dysphasis

. According to Gardner, the ability to

detect and respond appropriately to the
moods, temperaments, motivations and
intentions of others, is known as

(1) Linguistic intelligence

(2) Bodily — kinesthetic intelligence

(3) Interpersonal intelligence

(4) Intrapersonal intelligence
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The democratic organisation of school
influence learning, this factor of
learning is related to :
(" Methodological aspect
(2) Social aspect
(3) Physiological aspect
(4) Psychological aspect

Which of the following type of learning
style is used when students approach of
learning material in a way that helps
them understand the meaning of the

* materials ?

(1) Practical style (2) Impulsive style

(3) Surface style (4) Deep style

Which of the following is a good

assessment strategy to avoid cultural

bias ? ‘

(1) Assess students using a variety of
methods

(2 Use a single, good standardized
test

(3) Assume that ethnic differences are
due to heredity

(4) Avoid using  portfolio  for
assessment purposes

Rohan is reading a latest Bahubali comic
book because he cannot wait to see what
happens to Bahubali and his family. This
is best example of :

(1) Only intrinsic motivation
(2) Only extrinsic motivation
(3) Both intrinsic and extrinsic motivation
(4) Neither intrinsic nor extrinsic motivation
Learning situation in which multiple
partners stimulate and encourage one
another is called :
¢r) Team teaching
(2) Programmed instruction
(3) Cooperative learning
(4) Discovery learning

P.T.O.
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Which of the following is nof an
appropriate ~ strategy for improving
students problem solving ?

(1) Functional fixedness of students

(2 Give ecxtensive opportunities 10
solve real-world problems

Involve parents in children's

problem solving
students
problem

(€))

effective and
solving

Monitor
ineffective
strategies

“)

According to Bronfenbrenner's
Ecological Theory, student's family,
peers and school ete. influence his/her
development and they belong to the :

(1) Chrono system (2) Micro system

(3) Macro system (4) Exo system

is to social cognitive theory as

.........

Vygotsky is to social constructivist

theory.
(¥ Skinner (2) Seigler
(3) Piaget (4) Bandura

Speakmg or writing in such a way as to
haye an impact on others is known as the :
1) @_g of language
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According to Piaget, which of the
following characteristics is not related
to formal operational stage of children ?

(1) Hypothetico-deductive reasoning
(Zy Idealistic reasoning

(3) Spatial reasoning

(4) Abstract reasoning

Which of the following statement is
correct about the nature of emotions ?

(1) Emotional expressions are
modified by learning.

() Emotions are permanent state of
the organism.

(3) Emotions are aroused by internal
stimuli.

(4) Certain facial expressions of

emotions have different meanings.

Children considered as low vision who
have a visual acuity between :

(1) 20/70 to 20/200

(2) 20720 vision with corrective lenses
(3) 6/6 vision with corrective lenses
4y 207 10 to 20/30

Most suitable strategy for a teacher,
i”’.lsheuls Woxlng with adolescent
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Which of the following statement is

incorrect about the principles of child

~ development ?

(1) Development follows a definite and
predictable pattern.
(2 All individuals are similar in their

development.

(3) Development s product  of
hereditary and environment.

(4) Development works — on the

principle of integration.

A child's diet affect how tall the child
grows and even how effectively the
child can think and solve problems. In
this example development is primarily
influenced by :

(la/\ Heredity

(2) Environment
(3) Early-later experience
(4) Continuity

Which teaching strategy is most likely
to foster the development of critical
thinking skill of students ?

(1) Giving a multiple choice test

(2) Assignment for students to create

timelings of important historical
dates

(3) Giving worksheets to students that
require them to recall the facts
presented in their text books

(45 Presenting students with statements
such as "Lal Bahadur Shastri was
our greatest Prime Minister" to
defend or refute
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According to Erikson, in complex
societies teenagers experience which of
the following state ?

(1) Identity crisis

(2) Identity achievement

(3¥ Identity moratorium

(4) Identity foreclosure

Which of the following question is most

likely to get students to reflect on their

purpose ?

(1) What is most important to you in
your life ?

(2) How can you organise your life ?
(3) What can you do to get good
grades ?

How can you set better short term
: y
goal ?

Child's symptoms when, he/she can not

stay focused on a task, act impulsively,

ignoring social rules and lashing out

with hostility when frustrated, is

indication of :

(1) Attention — deficit hyperactivity
disorder

(2) Slow learner

(3) Mentally retardation

(4) Amnesia

sﬁet dieting and excessive exercise.
T neatmg disorder in adolescence is
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Direction : Answer the following questions by selecting the most appropriate option.

46. Choose the correct set of articles from
the given options in the following
sentence against the blank space :

"The teacher wrote ......... outline of a
STOTYIONISRNE ke blackboard."
(1) a,a @) an, the
(3) the,a (4) a, the
47. Choose the correct verb form in the
following sentence against the blank
space so as to complete the sentence :
"My father .......... for Delhi -
yesterday." .
(1) leave (2) will leave
@Y left (4) will be leaving
48. Choose the correct opﬁoﬁ to fill in the

blank space in the ,s_.éntenee' which
‘expresses the correct notion hinted in
the bracket against the blanlﬁﬁspa'e,e 5

RioF

"You ...... (command) apol
face the consequences.”

1n

50.

51.

52.

)
L] AN
o ‘,{ ¢

Identify the underlined word in the
given sentence.

I see him passing my house every day.
(1) Gerund

(2 Present Participle

(3) Infinitive

(4) Object

Identify the compound word from the
options given below :

(1) Development

(2) Newspaper

(3) Powerful

(4) Childhood
- 41 4

Fill in the blank with the correct
preposition :

Do y@u uéually gorouts.. ...
evenings ? :

@) in e )hat
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Which one of the following words is
not a noun ?

(1) advice @) rice

(4) nice

Choose the word which is spelt
correctly -

(1) Beegning
(2) Biginning
(3)-Beginning
(4) Begining

Which of the options given below is the

correct passive form of the followmg
sentence ?

"The Bhagvad Gita presents a balanced
philosophy of life."

(1) A balanced philosophy of life is
presented by the Bhagvad Gita

2 A balanced philosophy of 11fe has

been px;esented by the Bhagvad

Gita.

_::; Th' Bhagvad G1ta has‘presinted a

[13]

[C]

58. Select the correct option from the
following that correctly transforms the
following sentence from Direct speech
to Indirect speech :

He said, 'Congratulations !

(1) He congratulated me.

(2) He said to me congratulations.
(3) He exclaimed congratulations.

(4) He is saying congratulations.

59. Identify the correct meaning of the

underlined idiom in the following
sentence from the options given below :

"Climbing Mt. Everest is not a child's
play for anyone."

(1) very easy to do
~2) very difficult to do
~ (3) pleasant to do

(4) boring to do
60. Which one of the following words
undjerlined in the sentences given as
options has been used as a verb ?

: (1) The stage performances are called
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Direction : Answer the following questions by selecting the most appropriate option.

eries

61. AR SN TomIen =+ faoda &9 § fr@ 61. If English alphabets are written in
e S, ar 9 8k ¥ 199 SR & opposite order, then which is the 8th
it S} 84T ST -4l BNl letter of the 19th letter from left side ?
(1) T @) P @ ) T @ P
3) Q 4) R 3) Q 4 R

62. ¥ W ol § A 97 BIfT : 62. Find the Odd one out from given

options :
(1) 171 @ 131 1) 171 @ 131
3) 161 4) 181 (3) 161 (4) 181
63. ffoRaT STl @ = H 2T T %A 63. Write the following words in the order
% STPER faf given in the dictionary :
i. Critical -~ ii. Criterion i.  Critical ii. Criterion
iii. Crisis iv. Crisp @ . iii. Crisis iv. Crisp
@f il iv, i i (@ i, iv, i @iy, i i @) 4 i, v
@) iibivid @) v i ‘ @B L @) v, i
64. g/= 'PROPERTY' # &Rl & ¥ fhaa 64. In the word 'PROPERTY' how many
q ¥ RF® W § 98 9o & oK § such pairs of letter exist, which has the
g:ﬁ R o 9 ol avEeT ¥ o5 same number of letters between them
FHHAHTEATE P ' here as what they have between them in
g _ P _ . ~ their order in English Alphabet ?
1 o0 @ 1 l ‘ (1) 0 @ 1
) &y ~6) 4 @ 3
55. Find the wrong term in the following
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67. A businessman gives 15% discount on
the list price of his items. How much
- price he should mark on his items to the
cost price to get 19% profit ?
(1) 34% (2) 40%
(3) 25% 4) 30%

68. After 5 years, father's age will be three
times of his son's age. 5 years ago,
father's age was 7 times of his son's age.
The present age of the father is :
() 40 years (2) 30 years
(3) 50 years (4) 45 years

69. If the selling price of 6 pens is equal to -
the cost price of 8 pens, then profit/loss
in percentage is :
) 25% profit

. (3) 33%%loss

(2) 25% loss
(4) 33%% profit

70. If 2x+7_3x+11=2x+8_

: 5 3 5, then
S =2 '
@ (el > -1
(3) 2 @ -2

71. The curved surface area of a cylinder is
264 m® and its volume is 924 m’, then
what is the ratio between its diameter
and height ?
@y 6.7
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77. A'IS elder te l whlle C and D are elder

A principal lends on simple interest for
two years. If rate of interest more than
1% the simple interest increased by
Rs. 240. Find out the principal :

(1) Rs. 5,000 (2) Rs. 6,000

(3) Rs. 8,000 (4) Rs. 12,000

At the speed of 60 km per hour, 125
meter long train crosses a bridge in 30
seconds. What is the length of bridge ?
(1) 375 meter (2) 225 meter

(3) 125 meter (4) 250 meter

The average age of three boys is 16 years
and the ratio of their ages is 4 : 5 : 7, find
out the age of smallest boy.

(1) 8years (2) 9 years

(3) 12 years (4) 16 years

In an examination 60% of students passed
in English and 70% students passed in
Maths, 20% students failed in both subjects,
2500 students passed in both subjects. Find

out total number of students :
(1) 3000 (2) 3500
(3) 4000 (4) 5000
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79. A is the brother of B and C. D is the

mother of C. E is the father of A. Then

which statement is false ?

(¥ Bis son of E.

(2) E is father of B.

(3) E is husband of D.

(4) Aissonof D.

80. In English alphabet, how many letters

are unchanged in mirror image ?
(1) 8 2) 9
3) 12 @) 11
81. The Markanda river does not flow in

which of the following district ?
(1) Kurushetra (2) Sonipat

(3) Karnal (4) Ambala
82. The district, which is mainly irrigated
by Jui Canal :
(1) Hisar (2) Jhajjar
(3) Bhiwani (4) Rohtak

83. Which of the following was the partner
nation in Surajkund International Craft
Fair-2018 ?

(1) Egypt (2) France
(3) Kazakhstan (4) Kyrgyzstan
84. The district, in which Gujari Mahal is

situated : .
(1) Hansi (2) Hisar
(3) Panchkula  (4) Ambala

85. On the basis of extent of the period as
Chief Minister, arrange the following
Chief . Ministers of Haryana in
descending order (longest serving first) :
(i) Bhajan Lal
(ii) Bansi Lal
(iii) Bhupinder Singh Hooda
(iv) Devi Lal
Choose the correct code :
1) (@), Gi), (i (v)

) (i), () (iii), (iv)
3) (), (i), (v), (D)
e
@) (), (Gv), Gi) (@) e

et
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LC ] e
'86. g 3 & ar F orffEd U W
freR IRTT |
(@) S A dore T W Al AT
of |
(b) T ERET P T gofl, I R
form | o oremE AT T
SRET ¥ § B-a/AE-A B el
BR?
(1) 39 (a) TR
(2) %a« (b) T8 ®
@) T (@) AR T & (b) T B
@) (@@ (b)ﬂ?ﬁaa%

87.33161%37’ TER- § HOeh B
7 "
(1) <ige (2) J R
(4) ™ §T

(3) ®rg M

[18]

- @)

86. Consider the following statements abou

Shanno Devi :
(a) Shanno Devi was the Deputy
Speaker of Punjab Legislative

Assembly.

(b) When Haryana was formed; she
was elected as the Speaker of
Haryana Legislative Assembly,

Which of the above statement/

statements is/are true ?

(1) Only (a) is true

(2) Only (b) is true

(3) Neither (a) nor (b) is true

(4) Both (a) and (b) are true

Who was the editor of 'Khair Andesh'

87.
Newspaper ?
(1) Chandulal  (2) Murlidhar
(3) Chhotu Ram (4) Sham Lal
88. Consider the following statements about
- Eastern Peripheral Expressway :
(@) It is also known as Kundli-

haziabad-Palwal Expressway.
of this expressway
bl - iy
¢ above statement is/are
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AT - IV / PART = IV
$rIcX {IZH / COMPUTER SCIENCE

3T < e gedt @ ST 89 @ i @ o e g

cting the most appropriate option.

91. DBMS & &= H, HMI T1 o1 T2 &
g‘;‘ﬁmﬁ%umxwﬁq}sm%
SgshH X femm &Y
Tl :READ(X) T2 :READ(X)
T1: WRITE(X) T2 : WRITE(X)
2 FS Lz ST TR T B |
(1) =8 3=
(2) W sMUsT
(3) TTHER THY
(4) sHRdIeET {is
92. C++ ¥ U% dlfsiige P awax qur ad
FAE & FAR Sfesige W EHIRICHEST R
3T o ERCH] grar 21
(1) Copy constructor
(2) Default constructor
(3) Overloaded constructor
4) Non-parametrized constructor
93, T a1 A I g U/ F e
A aaae & 59T SQL FHiE ¢ :
(1) MODIFY  (2) UPDATE
(3) INSERT (4) ALTER
i RepiE Rolm ) i = 208
e 2, S > = 0 T 7(0) = 5
z
(1) Ty=2n-5 (2) Tm=n=>3
3) T(m)=2n+5 4 T(n)=n-3
o5, Ci+ ® dad §, FE ¥ WEE W
feEm &Y :
i <"Hello";
fopaT STRET | ¥
(1) @aa Th (2) 9=
(3) T3 (DG
Level-3/4321

91.

92.

93.

94.

95.

In context of database, let T1 and T2 are
two concurrent transactions. Consider the

following sequence of operations on data
X .

T1 : READ(X) T2 : READ(X)
T1: WRITE(X) T2 : WRITE(X)
IhiShSTamsrir i problem.

(1) Dirty Read
(2) Lost Update
(3) Incorrect Summary
(4) Unrepeatable Read

is used to declare and
initialize an object from another object
of same class in C++.
(1) Copy constructor

(2) Default constructor

(3) Overloaded constructor
(4) Non-parametrized constructor

SQL command used to modify attribute
values of one or more selected tuples is :

(1) MODIFY  (2) UPDATE
(3) INSERT  (4) ALTER

Solution to recurrence relation 7(n) =
T(n —1) + 2 is given by, where n > =0
and 7(0) = 5.

1) T(n)=2n-5 2) I(n)=n->5

Q& Tm)=2n+5 4 T(n)=n-3

In context of C++, consider following
loop-statement :
while(5) {cout <<"Hello";}

Hello will be displayed ... time(s)
by the above loop.
(1) Only one (2) Five'
(3) Zero (4) Infinite
P.T.O.
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102.

103.

104.

[21]

wH-1 T &F9-2 W R &Y
-1 -2

i. a8 (baidu) a. QI SeamsT

ii. STdEmET (alibaba) b, -39

iii. [RiFs-g7 (linkedin) c. ¥ g

iv. AR SRRGE d. iR Qi

V. TIWA (airmail) - e. 39 FEeR

-1 T W2 & G Q

(1) 1i-d, ii-a, iii-c, iv-b, v-¢

(2) i-c, ii-d, iii-a, iv-¢, v-b

(3) 1-e, ii-a, iii-b, iv-c, v-d

(4) i-c, ii-e, iii-b, iv-d, v-a

C++ ¥ = # § @@ w sha
Y Qe 78 R ?

(1) private (2) public

(3) protected (4) mutable

TEE-1 T -2 | ER &
-1 -2

i, TEHEte TRd  a. e SERdY Y

ii. M SRFET fyeed

iv. TSR Tl His R

v. & ISR .S AT

-1 T W2 OGS ©

(1) i-e, ii-a, iii-b, iv-c, v-d

(2) i-c, ii-e, iii-b, iv-d, v-a

(3) i-d, ii-a, iii-c, iv-b, v-€

4 i-c, ii-d, iii-a, iv-e, v-b ,

aaaamBSFsm_%mgaﬁu(@f

&) & @19 'We Loye BSE Very Muchl
ot @ R fEe # & A ST

;
o ove <FF = "Border

1) <html> We L
e Security Force"> BSF </FF> Very

Much </html> -
2) <html> We Love
0 Security Force">I BSF
Very Much </html> Rl
Love <abbr title =
(3) <html> We Qty Force"> BSF

© oo o

<BSF = "Border
</BSF>

(4) <html> We
“Security Force
Much </html>

"> BSF </F1111> Very

~ Level-3/4321

101.

102.

103.

104.

[C]

Consider Column - I and Column - 2 :

Column-1 Column-2
i.  baidu Social Networking
ii. alibaba E-mail
iii. linkedin Search Engine

iv. mozilla firefox Online Shopping
v. airmail Web Browser

Match of Column-1 and Column-2 is :
(1) i-d, ii-a, iii-c, iv-b, v-&
) i-c, ii-d, iii-g, iv-€, v-b
0) i-e, ii-a, iii-b, iv-c, v-d
4) i-c, ii-e, iii-b, iv-d, v-a

® oo o P

In C-++, which of the following is not a
valid access specifier ?

(1) private (2) public

(3) protected (4)" mutable

Consider Column-1 and Column-2 :
Column-1 Column-2
i. Microsoft Excel a. Remote Desktop Access

ii. Oracle b. Operating System
iii. Ubuntu c. Spreadsheet
iv. EBCDIC d. Binary Code System

y. Team Viewer e. DBMS

Match of Column-1 and Column-2 is :
(1) i-e, ii-a, iii-b, iv-c, v-d
(&Y i-c, ii-e, iii-b, iv-d, v-a
(3) i-d, ii-a, iii-c, iv-b, v-¢
4) i-c, ii-d, iii-a, iv-¢, v-b

Which of the following is appropriate
option to display on web page "We Love
BSF Very Much' with a tool tip (full

“form) for the word 'BSF' ?

(1) <html>We Love <FF = "Border
Security Force"> BSF </FF> Very
Much </htmI>

(2)° <html> We Love <BSF = "Border
Security Force"> BSF </BSF>
Very Much </htm1>

3 <html> We Love <abbr title
"Border Security Force"> BSF
</abbr> Very Much </html>

(4) <html> We Love <Full "Border
Security Force"> BSF </Full> Very

- Much </html>

P.T.O.
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105. C++ & g=d # frw s W fRER
H
[: U R () I ieeh qeed e,
AT D Paq wiedh Sel gewl &l
& ARFH (TIE) X T 2 |

[22]

I1: OF T 3 ©fR 95 S, P 3

ol eifsiereg T e [T S @ |
T BT B/E
(1) @aa 1
(2) Fad I
(3) 1991 I 3=t
(4) TarIsik 7 & I

qeqeRy H, FfT @ T AR B
H, CRC 3T arqd 2 :

(1) aEfecr RERM e
(2) GBS ReTedr %
(3) HEIR ReFEw %

(4) TS RUCIE s

DBMSI?{QH;EWW@EWW

FY |

O AR STESIBEY RasmRg #
T HEAHS ST
‘Gl gfedt Je : i ufed e AT §
(1) @ & T |

2) WA T

B) & 4§

“4) % § 7

W Rava & R & 59 ff o
T (A-Rfer)  wEiem Rk
(TR U=d) X->A Rdss R &
T BA Y, T X RdwE R A w

ESIE]
ferepeT 8 L "

106.

107.

108.

...........

(1) BCNF
(3) 3NF

(2) 2NF
(4) 4NF

Leve!y3/4321

(prfesfere emn)

105.

106.

107.

108.

consider the

In context of C++,

following statements :

[: Static member function of a class
can access only static data
members of the class.

II: A static data member of class is
shared by all the objects of the class.

The true statement(s) is/are :

(1) OnlyI

(2) OnlyII

(3> Both I and II

(4) Neither I Nor II

In context of error detection and

correction in computer networks, CRC

stands for ;
(1) Cyclic Reduction Code

(2)- Cyclic Redundancy Check
(3) Cyber Request Check
(4) Cyber Repetition Code

Consider a weak entity set in DBMS.

Cardinality ratio 'strong entity set :
weak entity set' in their binary
identifying relationship is :

(1) One to one

(2)-One to many

(3) Many to one

(4) Many to many

In a relational schema R whenever a
non-trivial  functional  dependency
X—>A holds in relation R, X is a super-
key of relation R. Relation R is

m

...........

blank is :
(1> BCNF
(3) 3NF

(2) 2NF
(4) 4NF
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109.

110.

111.

112.

113.

C++ & dd & f 3
FUT B 7 A A
BT ST B | RN ol
) & Y F T BRE, w7 3
" STEX SRS f362 ST kel |
(J)@W(mm)qﬂmgmw
T A SRR G G
@) Vier o T & oRPe 5W
S 4 B B T B |

TEITHTS HERTT-S A = T
T, oo, TR ek e & S
F fefa 0 % {3 &

(1) <cite>

(2) <refer>

(3) <highlight>

(4) <bold>

..........

oooooooooooooo

(3) @

4) X CIES
ﬁrﬂﬁ@faﬁ@aﬁw%ﬁ-wwsm
¥ e (azbﬁ/vrr@i%‘cﬁ) offqRgl &l
g7

(1) COUNT, MAX, AVG, SUM

2) MAX, AVG, SUM, SELECT
(3) UNION, COUNT, MIN, DESC

(4) AVG, MIN, MAX, ASC

Level-3/4321

[23]

109.

110.

111.

112.

113.

[C]

In context of CHH, which of the

following is invalid statement ?

(1) Friend function of class is not
considered a member function of
the class.

(2) Member function of a class can be
defined outside the class.

(3) Static data member of class can be
accessed only by static member
function of the class.

4 Static data member is initialized
with a zero only.

In HTML Version 5 the .........
is appropriate for marking up the titles
of works of art, music, movies, books etc.
(1) <cite>

(2) <tefer>

(3) <highlight>:

4y <bold>

OSI stands for :

(1) Online Secure Interconnection

(2) Online Systems Internet

(3) Open Security Information

(4r Open Systems Interconnection

element

............ is a challenge response
mechanism to ensure that on the other
side a person is responding and not a
machine.

Q) O 1%

2) Q.R.Code

(3). Captcha

(4) Bar Code

Which of the following of
operations is & valid set of aggregate
operations in SQL ? '

(1) COUNT, MAX, AVG, SUM

) MAX, AVG, SUM, SELECT

3y UNION, COUNT, MIN, DESC

(4) AVG, MIN, MAX, ASC

set

P.T.O.
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[C] L
PRI &Y 114. Consider the following HTML code :
L ﬁﬁ@‘ﬁ‘iﬂ@f ang q—(l " ﬁ?lélue <html> Task Completion Status
<html> Task Completion Sidius _ — npy QN % C 4
cmeter value = "0.8"> 80% Completed <meter Vﬁit/l}elt ]>0.8 > 80% Completed
</meter> </html> Selets i : b
39 U ) ERfd aTeeye S IR 7 T Choose true statement(s) about the
: : displayed on web page :
FE/FYA H GG B OIS : .
s 32R€ Task Completion Status:' [: Text 'Task Completion Status:' is
15 ?‘q‘&* '80% Completed efdfe el IT: Text 'SdO% Completed' is  not
BRI displayed. :
I : 80% T ST gof, T Hibebet ST [I1: A graphical gaugcei, 80% filled with
SR BT | colour is displayed.
(1) 1T@1I (2) IITg 11 (1) IandII (2) IIand III
3) 1T 111 4) LIS (3) Iand III (4 1 Mand IlI
115. /=1 & @ FH9-a7 TFdEATd § Red @ 115. Which of the following is empty or void
T e ? element in HTML ?
g? <p> (2) <br> (1) <p> (2) <br>
(3) <abbr> (4) <sup> (3) <abbr> (4) <sup>
116. EMPLOYEE 2390 & & U9 Tifgs & 116. Consider the following SQL query to
ecode W< & & fow, R address & retrieve ecode of employees from
INDIA' &l &, f= SQL &l W EMPLOYEE table, whose address
R &% contains 'INDIA" :
SELECT ecode SELECT ecode
FROM EMPLOYEE FROM EMPLOYEE
WHERE ....... ; WHERE ....... :
e & @ HiA-a ah A T’f A b Which of the following is most suitable
RIT T SUgeRt & ! to complete the query ?
(1) address LIKE ' INDIA ' (1) address LIKE' INDIA '
(2) address = %INDIA% ()—address = %INDIA %
(3) address AS '%INDIA ' (3) address AS '%INDIA '
(4) address LIKE '%INDIA %' (4) address LIKE '%INDIA %'
117. SeEd § T Rosd & g & oge 117. In context of a relation in database,
T N Y B choose a false statement :
(1) T § effers g ﬁ BT T 2 | (1) There can be more than one super
A - keys.
@ g_%éa i AT I e (2) A candidate key is a minimal super
key.
(3) fi Qaﬁhi%@? T @ et (3-One of the candidate keys is
ol T B designated as primary key.
4) afsse G . : :
4 Rl ﬁ QEE RN (4) Primary key 1is obtained by
Y IEE“B{ el HT‘H 3 removing one or more attributes
from a candidate key.
 Level-3/4321
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118.

119.

120.

12105

122.

123.

ﬁi‘?ﬁﬁﬁ?{-wqﬁmc‘ : ;
(ie) T 3 7 R
(2) IR

(1) FTeRed
(3) R (4) eI SEhe

CSMA/CD S &% ai T Jeas
E@?;O Mtzps %lﬂ%a{’@aﬂqmﬁ
Tier) 78 (2PN ¥ e
RIESE S G I wasg[
TR FX §T) 25.6 bl HehvsH ¥ |

R o I SR A 7

(1} 512 SEeE
(3) 64 sECH (4) 32 9y
TEIITHER A ... ufede, 3 4
P e S ¥ FgH oK &, [ @l
Faishe i ol |

(1) <SCRIPT >

(2) <SUB>

(3) <SUB SCRIPT>

(4) <SUB SCR>

W-Wzomﬁ,
3 ofoeia PHed 98 H SUd
ﬁzﬁwaﬁqgaﬁm,mﬁmm
e Sher o a8 |

@) T
@ =

4 mﬁuﬁxﬁmﬁ%ﬂ,ﬁa
o agjera AR A ST T

HAT: D
??)10 R I W BN

ﬁmﬁ%mw%wﬁﬁﬁm
vosv B, A FAQ o @ Fw
mﬁaﬁaﬁﬂﬁmw%(ﬁm
e

(1)) 512 (2) 1024
(3) 10024

(2) 1024 stEed

-------------

.............

(TR

[25]

118.

119.

120.

121.

122.

123.

http://haryanatet.com

[C]

Which of the following feature is not
supported in C++ ?
(1) Inheritance

(3r Reflection

A network using CSMA/CD- has a
bandwidth 10 Mbps. If the maximum
propagation time (including delays In
the devices and ignoring the time needed

to send a jamming signal) is 25.6 micro
seconds. What is the minimum size of

the frame ?

(2) Abstraction
(4) Dynamic Binding

(1) 512 bytes (2r 1024 bytes
(3) 64 bytes (4) 32 bytes
In HTML the ............. element 1is

used to contain characters that should
be sub-script.

(1) <SCRIPT>

2y <SUB>

(3) <SUB SCRIPT>

(4) <SUB SCR>

In MS-PowerPoint-2007,
about the selection can be added using
new comment option found in
comments group under .......... tab.

(1) Design (2) Insert

(3 Review (4) View

comment

In a three level memory hierarchy, the
access time of cache, main and virtual
memory is 5 nano-seconds, 100 nano-
seconds and. 10 milli-seconds respectively.
If the hit ratio is 80% for the cache and
99.5% for the main memory, then the
closest average access time of memory
hierarchy in nano-seconds 8

(1) 512 (2 1024

(3) 10024 (4) 128

Boolean expression y.z + Z i equal to
which of the following ? '

(g @) ytz

(?)}Z 4) yz

P.T.O.
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124.

125.

126.

127.

128.

129.

e e ——

e & § BiF-ar W STToIST 1 Teh
Shyq e 78 © !

(1) Xty =X

(@) siayss) =1y

3B) x'y'+xy=x

@) (x+y+z)=xy.z'

...............

Oifedax e & et & Fy F @
PH-dl R SgauRe WRET F TH WY
STIET YR 78 & 7

)

(3)%5%%%

(4) FAMe =T

e, 89 QU ol Fge T 9ed & |
() 7R @ &

(3) RreaE« (4) fooe g =
e & 9 § @ i9-a1, Aaar 9T
1 i G (LR C
ST P @ § qesd § ?
(1) fISieT e

) e femer

(3) ZSFRAT eiferq

(4) 48T eTuReq

M IR 2 9% REr o -

I: xy+xy II': XOR(x, y’j

I : XOR(x, y)

(3) ITd I

Level-3/4321

[26]
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124,

125.

126.

127.

128.

129,

Which of the following is nof a valid
expression of Boolean Algebra ?
(DRt

2) x'y+xy=y

@ xy+xy=x .

4) (x+y+z)=x"yz

In windows, we go to option 1n
control panel to uninstall a program
from our computer.

(1) Default Programs

(2) Action Center

(3) Device Manager

4y Programs and Features

In context of software testing, which of
the following testing is not a level or
type of development testing ?

(1) System testing

(2) Unit testing

(3L Release testing

(4) Component testing

In MS-PowerPoint-2007 after clicking
.......... button we can use arrow keys to
move the splitters which separates the
different sections of the current window.
(L Move Split  (2) Ruler

(3) Gridlines (4) Fit to window

In windows which of the following,
helps protect users from malware and
other potentially unwanted software ?
(1) Windows Mobility Center

(2} Windows Defender

(3) Indexing Options

(4) Windows Updates

Consider  the following  Boolean
expressions :

Iyt iyt II: XOR(x',y)

IIT : XOR(x', y)

Which  of the above expressions
represents exclusive NOR operation ?
(1) Tand II (2) Iand Il

(3} II'and III (4) L II and I
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133.

134.
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130. aﬁﬁsmmﬁﬁwxww:m

grefl, HHIeX STHRT iy

% G W%ﬁﬂgﬁmaﬁ?mq

[: X T &aa wait() T signal() SR
T & TR T o Wy S

I: 3 999 P AN x. wait() I
AR X1 & O P a9 % Rroifg
WA T SN T B @R SR x
signal() ST &AM 7 Y| :

II: x. signal() 3R % s g
SEE H G SO 3 2 R AR
CIERIE T [ - W e
W'W?&ﬁ%l

(1) I (2) HTd Il

(3) 1T 1 4) I, 11T 11

TAUE-TE & TRH H, .ovvevnnnnn. SIER]
I TS B TH HEw & B Y Th
P F WA G B oy Theh SR
& @Y § THfed #Rd 2 |

(87A)16 +(50B)16 HATE
(1) (346110 (2) (3472)s
(3) (OEA)s (4) (63215)g

220 grze gay 240 AT FAL ool
T R s F g9 &l

(1) 1MB,1TB  (2) 1GB, 1TB

(3) 1KB, 1GB (4 IMB 1GB

130.

131.

132.

138.

134.

[C]

Choose frue statements in context of

monitor based synchronization scheme

that uses condition type -variable x :

[: Only wait() and signal() operations
can be invoked on x.

II: If process P invokes X. wait()
operation; then P is suspended until
another process invokes X. signal().

[II : The x. signal() operation resumes
exactly one suspended process and
if no process is suspended, then it
has no effect.

(1) Tand1I () 1l and TII
(3). I and III (4) 1,1 and III
In context of MS-word ............ is a

series of commands and instructions that
you group together as a single command
to accomplish a task automatically.

(1) Mail Merge

 (2) Macro

(3 Cross Reference
(4) Hyphenation

Sum of (87A);¢ +(50B);¢ is :
(1) (3461)9 (2) (3472)g
(31 (9EA)6 (4) (63215)g

D2l bytes and T bytes are respectively
equalifors St and s :

() 1MB,1TB (2) 1GB, 1TB

(3) 1KB,1GB (4) IMB, IGB

Let A and B are two devices used to
play video games. In A there is
provision of a handle on a base and
buttons for pressing/revolving, while
video games are played using B holding
it in both the hands and moving it in the
air this or that side. Most suitable names
for A and B in order are :
¢ Joy-Stick, Game Pad
(2) Light Pen, Joy-Stick
(3) Game Pad, Track Ball
(4) Game Pad, Joy-Stick
. P.T.O.
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135.

136.

137.

ar

qET giolE T1 F el $Tged Q WX

S @6 S W HT foET & a9 gt

T2 9 grer amged R W fARre-Alg e

X o ax R 81 oaeE ) faEr

P

I:T1, Q% U Ghal 8 W Q I i@
Tol Fepll |

I1: T2, R & 96 @&l & Wj R & fo@
Tel garT |

S & § S FuF 2R

M) Faal () Fawll

@) ITIaE  (4) T 18R T &1

-l g8 & qifidepe et 'Cul' +
= (‘g el qun = H oA &E),
I AT 3 forw fram omar 21
(1) ga-fepe M & R

2) gu-Ree M & o

(3) BY gU fugl & REm & g

(4) 3T & TN B R

.............

P & 3 A o R @ 3

(afere) g= 7@ & ?

7 87

[28]

natet.com

135.

136.

137.

138.

\ e,
3 . (3‘)‘- Dining
I wm@f lady
e g R
A E

Let transaction Tl has obtained a
shared-mode lock S on data item Q and
transaction T2 has obtained an
exclusive-mode lock X on data item R.

Consider the following statements :
I: Tl can read Q but cannot write Q.

II : T2 can read R but cannot write R,

Which of the above statement(s) is/are
valid ?

(1) OnlyI (2) Only II

(3) BothIandII (4) Neither I nor Il
In MS-Office word short cut key 'Ctrl' +
('Control' and key pressed
together) isused to ............... y

(1) Create Sub-Script

(2) Create Super-Script

(3) Show Hidden Marks

(49 Increase Indent

Which of the following is not valid pair
of input devices ?

(1) Light Pen, Digital Camera

(2) Scanner, Microphone

(3) Trackball, Joy-stick

(4—Plotter, Mouse

Which of the following is not related to

synchronization in Operating System ?

(1) Bounded Buffer problem

(2) Readers-Writers problem
Philosophers problem
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141.

142.

143.

144.

145.

[C]

Which of the following is not a phase or
activity of requirement engineering in
context of software engineering ?

(1) Feasibility study

(2) Requirements clicitation and analysis
(3) Requirement validation

(47 Component specification

[n mass storage devices......... is
process of rearranging/relocating many
small non-contiguous blocks of data,
into fewer contiguous b g-sized blocks.
(J Defragmentation

(2) Paging

(3) Booting

(4) Restoring

Which of the following value is not

equal to (6103)g ?
(1) (110001000011)
() (C43)6

(3) (13910
(4) (30103)4

SATA stands for :

(1) Serial Active Technology Association

(2) Simple  Algorithm Technique
Association

(3Y Serial  Advanced Technology
Attachment

(4) Simple Active Technique Attachment

To combine revision from multiple authors
into a single document, option 'combine’
is used in MS-Office word 2007.

This option is found under ..........
(1) Review tab, Changes group
(2) Reference tab, Captions group

(3) Review tab, Compare group

'(g,)/Reference tab, Bibliography &

Citation group

P.T.O.
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146.

147.

148.

149.

150.

e
i

Which of the following is nof a type of

computer port ?

(1) SCSI () POP3
(3) PS/2 (4) USB

In MS-Excel, to repeat a text for a given
number of times, we can use

function.
(1) BAHTTEXT (2) REPEAT
(3) EXACT (4) REPT

In MS-PowerPoint-2007 short-cut key
Control + H is used t0 ....vreeresses in the
document.

(1) Hide selected text

(2) Replace text

(3) Create hyper text

(4Y Show header and footer

In MS-Excel-2007, which of the following
is found in the home tab Clipboard group ?

(1) Sort and Filter
(2¥ Merge and Center
(3) Format Painter
(4) Conditional Formatting
Fill in the blank in context of software
systen;archrtecture
..... archi’teeﬁne the processing
ina system is organized s0
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